EX LADDER DETAIL SHEET
Manufactured in accordance with BS EN ISO 1090. Parts 1 & 2.. Execution class 2

Part No: GL20102000

Finish: GALVANISED

EX 2000 Ladder System, 1825 - 2150mm

7l £l EX8 UPPER HOOPS

746
650

=== )8

EX11 UPPER STRAPS

EX4 l EX3 LACUT 10 SUID)

1200

EX8

[T — —— —rh

EXS
I

I [mE)
f=
e ] [§1~ex0 spLICE
FEET/CLEAT48>1 00

Wl
e

3

185,

5!

5

2500 OPTIMUM
2200 MIN
3000 MAX

2375

P

EX7 STAYS

5 —

2000 APPROX
1825 UP TO 2150 MAX

EX1 LADDER
SECTION
CUT DOWN TO SUIT

3, ——F

X6 FEET

== 3

CUT DOWN EX1 LADDER
SECTION AT BASE TO SUIT

QTY:

EX2000 - PARTS LIST:

EX1 -

EX3 -
EX4 -
EX5 -
EXG6 -
EX7 -
EX8 -

1 No

1 No PAIR
1 No PAIR
1 No

3 No PAIRS
1 No PAIR
2 No

EX10 - 1 No PAIR
EX11-1 No SET

FITTINGS LIST: - AX2000 BOLT PACK

6 No M12 x 50 CUP HD. BOLTS c/w NUT + FRW
28 No M12 x 35 CUP HD. BOLTS c/w NUT + FRW

650 I/S EX4
|
‘ (3] ©
2] [0
e 2
CAGE DMITTED
FOR CLARITY
| 17,
=
% D S 0 I v
Qi ~ i" -
————
||
|
L ﬁ; _
[ ] ‘ -]
L T |
= | —
——
L |
|
" i E

ALL HOLES 150 U.N.O

SO-

SHEET: OF



AutoCAD SHX Text
EX5

AutoCAD SHX Text
EX8

AutoCAD SHX Text
EX8

AutoCAD SHX Text
EX4

AutoCAD SHX Text
EX10 SPLICE

AutoCAD SHX Text
EX11 UPPER STRAPS

AutoCAD SHX Text
(CUT TO SUIT)

AutoCAD SHX Text
2500 OPTIMUM

AutoCAD SHX Text
2200 MIN

AutoCAD SHX Text
3000 MAX

AutoCAD SHX Text
EX3

AutoCAD SHX Text
EX6 FEET

AutoCAD SHX Text
EX6

AutoCAD SHX Text
FEET/CLEATS

AutoCAD SHX Text
CUT DOWN EX1 LADDER

AutoCAD SHX Text
SECTION AT BASE TO SUIT

AutoCAD SHX Text
1825 UP TO 2150 MAX

AutoCAD SHX Text
EX7 STAYS

AutoCAD SHX Text
EX1 LADDER

AutoCAD SHX Text
SECTION

AutoCAD SHX Text
CUT DOWN TO SUIT

AutoCAD SHX Text
EX8 UPPER HOOPS

AutoCAD SHX Text
CAGE OMITTED

AutoCAD SHX Text
FOR CLARITY


EX LADDER DETAIL SHEET
Manufactured in accordance with BS EN ISO 1090. Parts 1 & 2.. Execution class 2

Part No: GL20102500 Finish: GALVANISED

EX 2500 Ladder System, 2200 - 2650mm

EX2500 - PARTS LIST:

EX1-1No
EX8 UPPER HOOPS

EX3-1No PAIR
EX4 -1 No PAIR
EX5-1No

EX6 - 3 No PAIRS
EX7 -1 No PAIR
EX8 -2 No
EX9-1No

EX10 - 1 No PAIR
EX11-1No SET

FITTINGS LIST: - AX2500 BOLT PACK

6 No M12 x 50 CUP HD. BOLTS c/w NUT + FRW
35 No M12 x 35 CUP HD. BOLTS c/w NUT + FRW

285

650 I/S EX4
T — — X8
..
[
EXIL UPPER STRAPS
EX4 L 1IEX3 L~ (CUT TO SUID ‘ 3 ]
S | g =
o ‘ CAGE DMITTED
%_.i — FOR CLARITY
Be=—E— = FX8 f
! J Y
‘ V’:
Gl — £X9 S D N
== 1 — 39 -
] o
e | [§f~exo spLice
FEET/CLEATS s [——
00} \
,185 % ‘
——
T |
T o
[
= [ |
= u [ —
2 | |
8 = - 3 =
o o / I |
3| B X7 sTars n w| 2500 OPTIMUM |
S S| 2eo0 MN
= i N 3000 MAX ‘
g
5 [
j ‘
% EXI LADDER e
SECTION \
i UT DOWN 1O SUIT ‘
T i - n
[
! |
il — T —
X6 FEET
% . i L

CUT DOWN EXL LADDER
SECTION AT BASE TO SUIT

TYPICAL EXAMPLE FOR APPROX 2500 RISE

(200 TO 2650 mm ) QTYZ

SO-
SHEET: OF

ALL HOLES 150 U.N.O



AutoCAD SHX Text
EX8

AutoCAD SHX Text
EX7 STAYS

AutoCAD SHX Text
2500 OPTIMUM

AutoCAD SHX Text
2200 MIN

AutoCAD SHX Text
3000 MAX

AutoCAD SHX Text
EX6 FEET

AutoCAD SHX Text
EX8

AutoCAD SHX Text
TYPICAL EXAMPLE FOR APPROX 2500 RISE

AutoCAD SHX Text
(2200 TO 2650 mm )

AutoCAD SHX Text
2200 UP TO 2650 MAX

AutoCAD SHX Text
CUT DOWN EX1 LADDER

AutoCAD SHX Text
SECTION AT BASE TO SUIT

AutoCAD SHX Text
EX3

AutoCAD SHX Text
EX6

AutoCAD SHX Text
FEET/CLEATS

AutoCAD SHX Text
EX10 SPLICE

AutoCAD SHX Text
EX9

AutoCAD SHX Text
EX5

AutoCAD SHX Text
EX11 UPPER STRAPS

AutoCAD SHX Text
(CUT TO SUIT)

AutoCAD SHX Text
EX4

AutoCAD SHX Text
EX1 LADDER

AutoCAD SHX Text
SECTION

AutoCAD SHX Text
CUT DOWN TO SUIT

AutoCAD SHX Text
EX8 UPPER HOOPS

AutoCAD SHX Text
CAGE OMITTED

AutoCAD SHX Text
FOR CLARITY


EX LADDER DETAIL SHEET
Manufactured in accordance with BS EN ISO 1090. Parts 1 & 2.. Execution class 2

Part No: GL20103000 Finish: GALVANISED

EX 3000 Ladder System, 2700 - 3150mm

EX3000 - PARTS LIST:

EX1-1No

EX8 UPPER HOOPS
EX3 -1 No PAIR
EX4 - 1 No PAIR
EX5-1No
EX6 - 3 No PAIRS

EX7 - 1 No PAIR
EX8 -2 No
EX9-1No

EX10 - 1 No PAIR
EX11-1No SET

FITTINGS LIST: - AX3000 BOLT PACK

6 No M12 x 50 CUP HD. BOLTS c/w NUT + FRW
45 No M12 x 35 CUP HD. BOLTS c/w NUT + FRW

285
650 I/S EX4
== £X8 ‘
| ‘ |
EXIL UPPER STRAPS
EX4 l 1|EX3 s ‘ 3 8
° | e e
8 ‘ CAGE DMITTED
f—@ — & FOR CLARITY
P =— = X8
‘ J damTl
| =
. o5 4 B BTy o e
(2]
g 7 & OE T
EX6 —1 ~EX10
FEET/CLEATS m
pool, I
gesi |
I
e EX9 !
I
I —
T |
|
/:£ {t L4 ‘ i
Z 0 STAYS K I
3
= ‘
a5 m =
E
g l |
o o| 2500 DPTIMUNM -,
| B 2200 MIN I
i N 3000 MAX I
| 4
| \
I
T EXL LADDER ]
SECTION ‘
| TUT DOWN TO SuIT
i ——
! |
[
X6 FEET R | 1

CUT DOWN EX! LADDER
SECTION AT BASE TO SUIT

TYPICAL EXAMPLE FOR APPROUX 3000 RISE
(2700 T0 3150 mm >

SO-
SHEET: OF

ALL HOLES 150 U.N.O



AutoCAD SHX Text
EX9

AutoCAD SHX Text
EX7 STAYS

AutoCAD SHX Text
2500 OPTIMUM

AutoCAD SHX Text
2200 MIN

AutoCAD SHX Text
3000 MAX

AutoCAD SHX Text
EX8

AutoCAD SHX Text
EX10

AutoCAD SHX Text
TYPICAL EXAMPLE FOR APPROX 3000 RISE

AutoCAD SHX Text
(2700 TO 3150 mm )

AutoCAD SHX Text
CUT DOWN EX1 LADDER

AutoCAD SHX Text
SECTION AT BASE TO SUIT

AutoCAD SHX Text
EX6 FEET

AutoCAD SHX Text
2700 UP TO 3150 MAX

AutoCAD SHX Text
EX6

AutoCAD SHX Text
FEET/CLEATS

AutoCAD SHX Text
EX4

AutoCAD SHX Text
EX5

AutoCAD SHX Text
EX3

AutoCAD SHX Text
EX8

AutoCAD SHX Text
EX11 UPPER STRAPS

AutoCAD SHX Text
EX1 LADDER

AutoCAD SHX Text
SECTION

AutoCAD SHX Text
CUT DOWN TO SUIT

AutoCAD SHX Text
EX8 UPPER HOOPS

AutoCAD SHX Text
CAGE OMITTED

AutoCAD SHX Text
FOR CLARITY


EX LADDER DETAIL SHEET
Manufactured in accordance with BS EN ISO 1090. Parts 1 & 2.. Execution class 2

Part No: GL20103500

Finish: GALVANISED

EX 3500 Ladder System, 3200 - 3650mm

N

EX8 UPPER HOOPS

746
650
480

S
285
s £X8
.
EXI1 UPPER STRAPS
EX4 l 1EX3 s
3 I ‘
N
- %, 4
| HE=H—+F X8
I
ul
I I ©
£XS {7] N
~
g/ i
e 1| e
FECT/CLEATS |
! EXI3/EX14
!185¥ CAGE SPLICE SET
L L AEXS
i
EXI2 LOVER STRAPS
° LACUT 70 SUIT)
o
‘ w
T
e EX9
n
é i
= NS
2
8= b7 stars ;F 8
IS
= f
g
) T
|
n of 2500 DPTIMUM
@ 2200 MIN
3000 MAX
i
I
—X
Eme 5
m X
w
b
5

CUT DOWN EX2A LADDER
SECTION AT BASE T SUIT EX6 FEET

TYPICAL EXAMPLE FOR APPROX 3500 RISE
(3200 TO 3650 mm >

EX3500 - PARTS LIST:

EX1-1No

EX2A -1 No

EX3 - 1 No PAIR
EX4 - 1 No PAIR
EX5-1No

EX6 - 3 No PAIRS
EX7 - 1 No PAIR
EX8 -2 No

EX9 -2 No

EX10 - 2 No PAIR

650 I/S EX4 EX11-1No SET
EX12 -1 No SET

EX13 -1 No SET
EX14 -1 No SET

‘ FITTINGS LIST: - AX3500 BOLT PACK

‘ 2 = 16 No M12 x 50 CUP HD. BOLTS c/w NUT + FRW
Eﬁﬁpﬁﬁ”f;{TEyD 47 No M12 x 35 CUP HD. BOLTS c/w NUT + FRW
| 7’117&
Y
39 i“ -
|
|
—
|
=
_L
|
|
—
|
I——
\
|
-
B
|
i L

QTY:

ALL HOLES 150 U.N.O

SO-
SHEET: OF



AutoCAD SHX Text
EX13/EX14

AutoCAD SHX Text
CAGE SPLICE SET

AutoCAD SHX Text
EX9

AutoCAD SHX Text
CUT DOWN EX2A LADDER

AutoCAD SHX Text
SECTION AT BASE TO SUIT

AutoCAD SHX Text
2500 OPTIMUM

AutoCAD SHX Text
2200 MIN

AutoCAD SHX Text
3000 MAX

AutoCAD SHX Text
EX6 FEET

AutoCAD SHX Text
EX5

AutoCAD SHX Text
EX3

AutoCAD SHX Text
TYPICAL EXAMPLE FOR APPROX 3500 RISE

AutoCAD SHX Text
(3200 TO 3650 mm )

AutoCAD SHX Text
3200 UP TO 3650 MAX

AutoCAD SHX Text
EX6

AutoCAD SHX Text
FEET/CLEATS

AutoCAD SHX Text
EX8

AutoCAD SHX Text
EX10

AutoCAD SHX Text
EX9

AutoCAD SHX Text
EX4

AutoCAD SHX Text
EX11 UPPER STRAPS

AutoCAD SHX Text
EX8

AutoCAD SHX Text
EX12 LOWER STRAPS

AutoCAD SHX Text
(CUT TO SUIT)

AutoCAD SHX Text
EX7 STAYS

AutoCAD SHX Text
EX10

AutoCAD SHX Text
EX8 UPPER HOOPS

AutoCAD SHX Text
CAGE OMITTED

AutoCAD SHX Text
FOR CLARITY


EX LADDER DETAIL SHEET
Manufactured in accordance with BS EN ISO 1090. Parts 1 & 2.. Execution class 2

Part No: GL20104000

Finish: GALVANISED

EX 4000 Ladder System, 3700 - 4150mm

00“ 650
7 EX8 UPPER HOOPS

i |
|, o
> \ -
o g g LI _ %‘f
N o <
Al
\
, 285
=TT 8
.
EXI1 UPPER STRAPS
EX4 l 1EX3
8
&
- %@, 2l
| == [X8
IR
w
| b
% X5 ] N
3 ] m -
g
=
EX6 EX10]
FEET/CLEATS J100
3 EXL3/EX14
185 CAGE SPLICE SET
[t
pE—tH L EAEXS
i
~
X EXI2 LOVER STRAPS
u (CUT 70 SUID
i
Rt HEXS
= X
= w
g Al g
o / 8
S|2 EX7 STAYS T
Fla
5
g |
m ?
i
i of 2500 DPTIMUM
! 5 2200 MIN

3000 MAX

exuol§]

——
875-EX2

650 I/'S

EX4

CAGE DHIT
FIR

CLARITY

y
A

197,

®
)
S

TED

1036

T
e e - -

R | S 1 | 1

CUT DOWN EX2 LADDER
SECTION AT BASE TO SUIT EX6 FEET

TYPICAL EXAMPLE FOR APPROX 4000 RISE
(3700 TO 4150 mm )

QTY:

EX4000 - PARTS LIST:

EX1-1No

EX2 -1 No

EX3 -1 No PAIR
EX4 - 1 No PAIR
EX5-1No

EX6 - 3 No PAIRS
EX7 - 1 No PAIR
EX8 -2 No

EX9 -2 No

EX10 - 2 No PAIR
EX11-1No SET
EX12-1No SET
EX13-1No SET
EX14 - 1 No SET

FITTINGS LIST: - AX4000 BOLT PACK

16 No M12 x 50 CUP HD. BOLTS c/w NUT + FRW
47 No M12 x 35 CUP HD. BOLTS c/w NUT + FRW

ALL HOLES 150 U.N.O

SO-

SHEET:

OF



AutoCAD SHX Text
EX9

AutoCAD SHX Text
EX10

AutoCAD SHX Text
EX3

AutoCAD SHX Text
EX4

AutoCAD SHX Text
TYPICAL EXAMPLE FOR APPROX 4000 RISE

AutoCAD SHX Text
(3700 TO 4150 mm )

AutoCAD SHX Text
3700 UP TO 4150 MAX

AutoCAD SHX Text
EX7 STAYS

AutoCAD SHX Text
EX6 FEET

AutoCAD SHX Text
EX6

AutoCAD SHX Text
FEET/CLEATS

AutoCAD SHX Text
EX5

AutoCAD SHX Text
2500 OPTIMUM

AutoCAD SHX Text
2200 MIN

AutoCAD SHX Text
3000 MAX

AutoCAD SHX Text
CUT DOWN EX2 LADDER

AutoCAD SHX Text
SECTION AT BASE TO SUIT

AutoCAD SHX Text
EX9

AutoCAD SHX Text
EX13/EX14

AutoCAD SHX Text
CAGE SPLICE SET

AutoCAD SHX Text
EX12 LOWER STRAPS

AutoCAD SHX Text
(CUT TO SUIT)

AutoCAD SHX Text
EX11 UPPER STRAPS

AutoCAD SHX Text
EX8

AutoCAD SHX Text
EX8

AutoCAD SHX Text
EX10

AutoCAD SHX Text
EX8 UPPER HOOPS

AutoCAD SHX Text
CAGE OMITTED

AutoCAD SHX Text
FOR CLARITY


EX LADDER DETAIL SHEET
Manufactured in accordance with BS EN ISO 1090. Parts 1 & 2.. Execution class 2

Part No: GL20104500

Finish: GALVANISED

EX 4500 Ladder System, 4200 - 4650mm

EX8 UPPER HOOPS

1200

e w== [

EXI1 UPPER STRAPS
e

EX4 L X3

1775-EX2_|,

== W]

T —— iy

[§] Exs
EXS |

4500
4200 UP TO 4650 MAX

650 I/S EX4

EX4500 - PARTS LIST:

EX1-1No

EX2 -1 No

EX2A -1 No

EX3 - 1 No PAIR
EX4 - 1 No PAIR
EX5-1No

EX6 - 3 No PAIRS
EX7 - 2 No PAIRS

CAGE DMITTED
FIR mrnv

1033

EX8 -2 No

EX9 -3 No

EX10 - 3 No PAIRS
EX11-1No SET
EX12-1No SET
EX13-1No SET
17, EX14 - 1 No SET

1036

20D_1117|

FITTINGS LIST:

3
LA =
- EX[U”

EX6
FEET/CLEATS
A0

l EXI3/EX14
CAGE SPLICE SET

EX9

L~CUT TO SUIT

EX12

7

EX7 STAYS

I3 =13 - 35— -5 [

EX9

3000-EX1_|
|

L EX9

) ey ey )

=3

exig g
2500 OPTIMUM

2200 MIN
3000 MAX

2350

1000-EX2

Exin g

3
EX2A L

197,

1 No AX4500 BOLT PACK
PLUS 2 No AX12 BOLT PACKS

16 No M12 x 50 CUP HD. BOLTS c/w NUT + FRW

64 No M12 x 35 CUP HD. BOLTS c/w NUT + FRW

EX12 LOVER STRAPS o

S | | N | | | |
|

CUT DOWN EX2A LADDER
SECTION AT BASE TO SUIT EX6 FEET

TYPICAL EXAMPLE FOR APPROX 4300 RISE
(4200 TO 4630 mm >

QTY:

ALL HOLES 150 U.N.O

SO-
SHEET: OF



AutoCAD SHX Text
EX13/EX14

AutoCAD SHX Text
CAGE SPLICE SET

AutoCAD SHX Text
EX7 STAYS

AutoCAD SHX Text
EX9

AutoCAD SHX Text
EX8

AutoCAD SHX Text
EX4

AutoCAD SHX Text
EX5

AutoCAD SHX Text
EX9

AutoCAD SHX Text
2500 OPTIMUM

AutoCAD SHX Text
2200 MIN

AutoCAD SHX Text
3000 MAX

AutoCAD SHX Text
EX12 LOWER STRAPS

AutoCAD SHX Text
(CUT TO SUIT)

AutoCAD SHX Text
4200 UP TO 4650 MAX

AutoCAD SHX Text
EX6

AutoCAD SHX Text
FEET/CLEATS

AutoCAD SHX Text
CUT DOWN EX2A LADDER

AutoCAD SHX Text
SECTION AT BASE TO SUIT

AutoCAD SHX Text
EX10

AutoCAD SHX Text
EX9

AutoCAD SHX Text
EX8

AutoCAD SHX Text
TYPICAL EXAMPLE FOR APPROX 4500 RISE

AutoCAD SHX Text
(4200 TO 4650 mm )

AutoCAD SHX Text
EX11 UPPER STRAPS

AutoCAD SHX Text
EX3

AutoCAD SHX Text
EX10

AutoCAD SHX Text
EX10

AutoCAD SHX Text
EX6 FEET

AutoCAD SHX Text
EX8 UPPER HOOPS

AutoCAD SHX Text
CAGE OMITTED

AutoCAD SHX Text
FOR CLARITY


EX LADDER DETAIL SHEET
Manufactured in accordance with BS EN ISO 1090. Parts 1 & 2.. Execution class 2

Part No: GL20105000

Finish: GALVANISED

EX 5000 Ladder System, 4700 - 5150mm

EXB UPPER HIOPS

746
650
480
i
|
1%,
k)

EX5000 - PARTS LIST:

EX1

1036

EX11

CUT DOWN EX2 LADDER

SECTION AT BASE 70 SUIT X6 FEET

TYPICAL EXAMPLE FOR APPROX 9000 RISE
(4700 TO 5130 mm )

= 650 /S EX4
=T Ex8 ‘
I
\ |
EXI1 UPPER STRAPS
alll e > ‘ 2
g ! =
S ‘ CAGE DMITTED
Fe — FOR CLARITY
B ===y X8 F
| J | | 17),
] 5
t | 3 b
EXS [ S
E £ F S 2
1 cf
exe — 1| Exg
FEET/CLEATS Jyoo|,  [H —
| EXI3/EX14 ‘
CAGE SPLICE SET
, 185])
Bt L HLAEXS !
T [ [ = J _
f
|
|
T
EXI2 LOVER STRAPS a | ]
«CUT T0°SUID
m —
/Z ‘
EX7 STAYS —
L 1FX9
= g
x x —
w w I
e 2
8 8
2| 8 \
T =
|
|
3 n = #; —
B
g ? |
Sle i —
o i 1) ‘
g - ‘
-+ Tl
) — —]
-
EX10)
Il —
|
r|1 N |
) —
w I
g |
= gl 2500 DPTINUM ===
@ eem0 M ‘
f S 3000 MAX
sl —L
EX[U”
—t
| |
+ o .
I @ |
I
|
[
|
N ‘ L

-1 No
EX2 -
EX3 -
EX4 -
EX5 -
EX6 -
EX7 -
EX8 -
EX9 -
EX10 -
-1No SET
EX12 -
EX13 -
EX14 -

2 No

1 No PAIR

1 No PAIR

1 No

3 No PAIRS
2 No PAIRS
2 No

3 No

3 No PAIRS

1 No SET
1 No SET
1 No SET

FITTINGS LIST:
1 No AX4500 BOLT PACK
PLUS 2 No AX12 BOLT PACKS

16 No M12 x 50 CUP HD. BOLTS c/w NUT + FRW
64 No M12 x 35 CUP HD. BOLTS c/w NUT + FRW

QTY:

ALL HOLES 150 U.N.O

SO-
SHEET:

OF



AutoCAD SHX Text
TYPICAL EXAMPLE FOR APPROX 5000 RISE

AutoCAD SHX Text
(4700 TO 5150 mm )

AutoCAD SHX Text
EX13/EX14

AutoCAD SHX Text
CAGE SPLICE SET

AutoCAD SHX Text
EX6

AutoCAD SHX Text
FEET/CLEATS

AutoCAD SHX Text
EX12 LOWER STRAPS

AutoCAD SHX Text
(CUT TO SUIT)

AutoCAD SHX Text
EX9

AutoCAD SHX Text
EX4

AutoCAD SHX Text
EX8

AutoCAD SHX Text
EX10

AutoCAD SHX Text
4700 UP TO 5150 MAX

AutoCAD SHX Text
EX8

AutoCAD SHX Text
EX11 UPPER STRAPS

AutoCAD SHX Text
EX9

AutoCAD SHX Text
EX5

AutoCAD SHX Text
2500 OPTIMUM

AutoCAD SHX Text
2200 MIN

AutoCAD SHX Text
3000 MAX

AutoCAD SHX Text
EX9

AutoCAD SHX Text
CUT DOWN EX2 LADDER

AutoCAD SHX Text
SECTION AT BASE TO SUIT

AutoCAD SHX Text
EX3

AutoCAD SHX Text
EX7 STAYS

AutoCAD SHX Text
EX10

AutoCAD SHX Text
EX10

AutoCAD SHX Text
EX6 FEET

AutoCAD SHX Text
EX8 UPPER HOOPS

AutoCAD SHX Text
CAGE OMITTED

AutoCAD SHX Text
FOR CLARITY


EX LADDER DETAIL SHEET
Manufactured in accordance with BS EN ISO 1090. Parts 1 & 2.. Execution class 2

Part No: GL20105500

Finish: GALVANISED

EX 5500 Ladder System, 5200 - 5650mm

1036

CUT DOWN EX2A LADDER
SECTION AT BASE TO SUIT £X6 FEET

EXB UPPER HIOPS
650 I/S EX4
= = — F X8 ‘
| ‘
EXI1 UPPER STRAPS
x4 \ 1|EX3 s ‘ o
g
gl I g
8 L CAGE DMITTED
}—T, FIR CLARIT
== 18 F
‘ l b | 117
3
é 5
I ] ® S
EXS 1] S
< 4= N
EX6 EX10) ]
FEET/CLEATS J100
| EXI/EXI4 |
155* CAGE SPLICE SET |
L
=== EX9 1
il T
" L
~ EXI2 LOVER STRAPS = ‘ (]
e
" i
/Z ‘
EX7 STAYS |
Rt LEX9 |
HIE 1
w % i
1| 8 Y |
11| =
|
m _L
~ EXI/EXL4
= CAGE SPLICE SET
g o _
2 Wt A9
3
Sla L O o | bde LOVER sTRapS ‘
8= X (CUT 70 SUID = —
o
s IS 2 |
] b 41(
o
EX10| b |
= i
| f
of L
B
I ‘
g
g
* E
N —+
; |
i“ 2500 DPTINUM ‘
gl
R 2 220 M |
m S 3000 MAX —
|
o =8
B
1| w ‘
HIEES!
i |
‘ |
?g ‘
[Xlﬂ7
nl g —
&
g } L.

TYPICAL EXAMPLE FOR APPROX 5300 RISE
(5200 TO 5630 mm )

197,

EX5500 - PARTS LIST:

EX1-1No
EX2-2No

EX2A -1 No

EX3 - 1 No PAIR
EX4 - 1 No PAIR
EX5-1No

EX6 - 3 No PAIRS
EX7 - 2 No PAIRS
EX8 - 2 No

EX9 -4 No

EX10 - 4 No PAIRS
EX11-1No SET
EX12 -2 No SET
EX13 -2 No SET
EX14 -2 No SET

FITTINGS LIST:
1 No AX5500 BOLT PACK
PLUS 2 No AX12 BOLT PACKS

26 No M12 x 50 CUP HD. BOLTS c/w NUT + FRW
76 No M12 x 35 CUP HD. BOLTS c/w NUT + FRW

QTY:

ALL HOLES 150 U.N.O

SO-
SHEET: OF



AutoCAD SHX Text
5200 UP TO 5650 MAX

AutoCAD SHX Text
EX9

AutoCAD SHX Text
EX4

AutoCAD SHX Text
EX13/EX14

AutoCAD SHX Text
CAGE SPLICE SET

AutoCAD SHX Text
EX8

AutoCAD SHX Text
EX6

AutoCAD SHX Text
FEET/CLEATS

AutoCAD SHX Text
EX12 LOWER STRAPS

AutoCAD SHX Text
(CUT TO SUIT)

AutoCAD SHX Text
EX7 STAYS

AutoCAD SHX Text
EX9

AutoCAD SHX Text
EX13/EX14

AutoCAD SHX Text
CAGE SPLICE SET

AutoCAD SHX Text
EX9

AutoCAD SHX Text
TYPICAL EXAMPLE FOR APPROX 5500 RISE

AutoCAD SHX Text
(5200 TO 5650 mm )

AutoCAD SHX Text
2500 OPTIMUM

AutoCAD SHX Text
2200 MIN

AutoCAD SHX Text
3000 MAX

AutoCAD SHX Text
EX11 UPPER STRAPS

AutoCAD SHX Text
EX12 LOWER STRAPS

AutoCAD SHX Text
EX8

AutoCAD SHX Text
EX9

AutoCAD SHX Text
EX5

AutoCAD SHX Text
EX10

AutoCAD SHX Text
EX3

AutoCAD SHX Text
CUT DOWN EX2A LADDER

AutoCAD SHX Text
SECTION AT BASE TO SUIT

AutoCAD SHX Text
EX10

AutoCAD SHX Text
EX10

AutoCAD SHX Text
EX10

AutoCAD SHX Text
EX6 FEET

AutoCAD SHX Text
EX8 UPPER HOOPS

AutoCAD SHX Text
CAGE OMITTED

AutoCAD SHX Text
FOR CLARITY


EX LADDER DETAIL SHEET
Manufactured in accordance with BS EN ISO 1090. Parts 1 & 2.. Execution class 2

Part No: GL20106000

Finish: GALVANISED

EX 6000 Ladder System, 5700 - 6000mm

EX8 UPPER HOOPS

= FF— > EX8
||
EXL1 UPPER STRAPS
EX4 l 1|EX3 L
S |
g
.
‘ BE=—=—=——y X8
I
o]
i | b
£X5 IS
9 =
e — | ©xq
reeT/cleats A% I
| EXI3/EX14
135* CAGE SPLICE SET
1 HEAEXS
o
o
* EXI2 LOVER STRAPS
o
/Z
EX7 STAYS
et L EX9
< o
I
i g u
gll g
T 8
|
o
* EXL3/EXI4
CAGE SPLICE SET
g
I, e HAEX9
]
i
o 8 1 o EXI2 LOVER STRAPS
S e It B LUt T0'sum
3
Ei £ uh
= EXt0)
5 n
I, e HEX9
!
1
N
=
M
w of 2500 DPTIMN
8 eenn MIN
& 300 MAx
|
i
|
1‘
g

CUT DOWN EX1 LADDER
SECTION AT BASE O SUIT X6 FEET

TYPICAL EXAMPLE FOR APPROX 6000 RISE
(3700 TO 6000 MAX >

650 IS EX4

1033
1036

T
EX6000 - PARTS LIST:

EX1

EX10
EX11
EX12
EX13
EX14

-2 No
EX3 -
EX4 -
= EX5 -
EX6 -
EX7 -
EX8 -
EX9 -

1 No PAIR
1 No PAIR
1 No

3 No PAIRS
3 No PAIRS
2 No

4 No

-2 No PAIRS
-1No SET
-2No SET
-2No SET
-2 No SET

FITTINGS LIST: 1 No AX5500 BOLT PACK

I S | A | R | N O

!

T
S | R N |
\

26 No M12 x 50 CUP HD. BOLTS c/w NUT + FRW
66 No M12 x 35 CUP HD. BOLTS c/w NUT + FRW

QTY:

SO-

ALL HOLES 150 U.N.O

SHEET:

OF



AutoCAD SHX Text
EX9

AutoCAD SHX Text
EX7 STAYS

AutoCAD SHX Text
EX4

AutoCAD SHX Text
EX12 LOWER STRAPS

AutoCAD SHX Text
(CUT TO SUIT)

AutoCAD SHX Text
2500 OPTIMUM

AutoCAD SHX Text
2200 MIN

AutoCAD SHX Text
3000 MAX

AutoCAD SHX Text
EX3

AutoCAD SHX Text
EX11 UPPER STRAPS

AutoCAD SHX Text
5700 UP TO 6000 MAX

AutoCAD SHX Text
EX12 LOWER STRAPS

AutoCAD SHX Text
EX13/EX14

AutoCAD SHX Text
CAGE SPLICE SET

AutoCAD SHX Text
EX6

AutoCAD SHX Text
FEET/CLEATS

AutoCAD SHX Text
EX10

AutoCAD SHX Text
EX13/EX14

AutoCAD SHX Text
CAGE SPLICE SET

AutoCAD SHX Text
EX8

AutoCAD SHX Text
EX9

AutoCAD SHX Text
EX9

AutoCAD SHX Text
EX9

AutoCAD SHX Text
EX5

AutoCAD SHX Text
EX8

AutoCAD SHX Text
TYPICAL EXAMPLE FOR APPROX 6000 RISE

AutoCAD SHX Text
(5700 TO 6000 MAX )

AutoCAD SHX Text
CUT DOWN EX1 LADDER

AutoCAD SHX Text
SECTION AT BASE TO SUIT

AutoCAD SHX Text
EX6 FEET

AutoCAD SHX Text
EX10

AutoCAD SHX Text
EX8 UPPER HOOPS

AutoCAD SHX Text
CAGE OMITTED

AutoCAD SHX Text
FOR CLARITY


	F702100101 - EX 2000 Ladder System 1825 - 2150mm
	Sheets and Views
	Model


	F702110101 - EX 2500 Ladder System 2200 - 2650mm
	Sheets and Views
	Model


	F702120101 - EX 3000 Ladder System 2700 - 3150mm
	Sheets and Views
	Model


	F702130101- EX 3500 Ladder System 3200 - 3650mm
	Sheets and Views
	Model


	F702140101- EX 4000 Ladder System 3700 - 4150mm
	Sheets and Views
	Model


	F702150101 - EX 4500 Ladder System 4200 - 4650mm
	Sheets and Views
	Model


	F702160101 - EX 5000 Ladder System 4700 - 5150mm
	Sheets and Views
	Model


	F702170101 - EX 5500 Ladder System 5200 - 5650mm
	Sheets and Views
	Model


	F702180101 - EX 6000 Ladder System 5700 - 6000mm
	Sheets and Views
	Model



